2018
Promotion Examination - 20471

Class - XI A,B.C & D (L@/M
Mathematics

Time : 3:00 Hrs { + 15 mins reading time } Max.Marks : 100
General Instructions: ’
1).  The question paper consists of 29 questions divided into four sections A,B,C
and D.

Section A comprises of 4 questions of 1 mark each.
Section B comprises of 8 Questions of 2 marks each.
Section C comprises of 11 Questions of 4 marks each.
- Section D comprises of 6 Questions of 6 marks each.
).  All questions are compulsory, in some questions internal choice is given.
iii). ~ Try to attempt the question in serial order.
iv).  Use of calculators is not permitted

Section A
[Question number 1 to 4 carry 1 mark each]

1. Using the principle of mathematical induction, prove that ( 1+ x )" = (1+nx ), forail

n e N, x> -1, assuming that P(k) is true , check for P(k+1).
2.  Find the distance between P(x,y,) and Q(x,, y,) when PQ is parallel to y-axis.

3. Find the centroid of a triangle, the mid points of whose sides are D( 1,2, -3 ), E(3, 0,1)
and F(-1,1,-4).

4.‘ Consider the experiment of rolling a die. Let E be the event "getting a prime number" , F be
~ the event "getting an odd number". Write the set representing the events "E and F".

Section B
[Question number 5 to 12 carry 2 marks each]

5. Given three sefé A, Band C,'dra'w a Venn diagram for
A aAB) i) ANn(BUOC).
6. . If v'c‘o't‘é + tan® = 2cosec , then find the general value of @ .
e = ;‘i'.'vlb'o" o |
ib=|—=| ,thenfindaandb.
7. If a+ib (H—i) 4 en ‘ .
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15.

” 16.

:17.

one numbers can be constructed using the digits 0 to 9 if each

How many 5-digit teleph
ore than once?.

number starts with 67 and no digit appears m

The 4% term of a G.P. is square of its 2™ term, and the first term is -3. Determine its 7" term.

Find the equation of parabola passing through (4, -2 ), vertex (0, 0) and symmetric with

respect to y-axis
Find the derivative of (3x +5)(1+ tanx) w.r.to x.

A coin is tossed three times. Find the probability of getting
i)  nohead ii)  ahead on first coin.

Section C
[Question number 13 to 23 carry 4 marks each]

Let A ={1,2,3,4,6}, letR be the relation on A defined by

R = {(a, b):a,beA,bisexactlydivisiblebya } . Write R in roaster form also find the

domain and range of R.

In AABC, prove that a.Sin(B-C)+ b.Sin(C-A)+c.Sin(A-B).

__; = cot—

i tan .
In AABC, prove that 2 brc X

7 2+643i L
Represent ————5+ J3i in the polar form.

- Solve the following system of linear inequalities graphically :

3x +2y <150, x+4y<80, x<15and y20.

In how many ways can the letters of the word "PERMUTATIONS" be arranged if the

i) word start with P and ends with S ii)  vowels are all together.

18.

19.

 Find the coefficient of x in the expansion of ( 1—3x + 7x’ J(1-x )e.

OR

. 57 b 2
Find the middle term in the expansion of ( 2ax - — J
: X

{

The sum of two numbers is 6 times their geomeiris mean. Show that numbers are in the ratio

b
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(3+2v2):(3-22).

20. . 2
0 Reduc:e the equation 6x + 3y - 5 =0 into slope intercept form and find their slope, also x
and y intercept.

; ) ) _ ) 2x+3;x<0 *
21. Find L‘_‘}})f(k) and 1\‘2} f(x), where f(x) = {3()( +1);x>0°

220 Linﬁ,‘-'through the points (-2, 6 ) and (4, 8)is perpendicular to the line through the points
o ( 8,r12) and ( x, 24 ). Find the value of x.

: L 3
23.  Find the equation of the hyperbola with eccentricity Py and fociat (£2,0 ).
OR

o ‘ - - - 1
Find the equation of the ellipse having fociiat (+2,0 ) and eccentricity 5

Section D
[Question number 24 to 29 carry 6 marks each] i

24. Inatown of 10,000 families, it was found that 40% families buy newspaper X, 20% fami
lies buy newspaper Y and 10% families buy newspaper Z, 5% families buy X and Y, 3%
buy Y and Z and 4% buy X and Z. If2% families buy all the three newspaper find the

aumber of fanilies which buy
i) Xonly ii) Y only iii) noneof X, Y and Z.

e OR
~ Qut of the 100 students, 15 passed in English, 12
English and Mathematics, 7 in Mathematics and

" the three. Find how many passed in
~ i) English and Mathematics but not in Science ?
" 1i) Mathematics and Science but not in English ?

 jji) Mathematics only ?

passed in Mathematics, 8 in Science, 61in
Science, 4 in English and Science, 4 inall

25. Fromamenu that offers 3 salads, 2 starters, 8 desserts, how many different combination of
- dinner with 1 salad, 1 starter and 1 dessert can be made ?

: J; £ )XO

26. : Fmd the tenﬁ.indépendeq; ofxinthe expansion of ( e

2(2+2?)+ (P2 £ )+

OR
§: 1x2x3+2x3x4 +3x4x5+... -

27. Find the sum to n terms of the series‘k .

Find the sum of the first n terms of the serie

8
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28.  Using first principle, find the derivative of {(x) = Coscc x.

29. Findthemean,® variance and standard deviation using short cut method :

Heights | o o1 75_g0 | 8085 | 85-90 | 90-95 | 95100 | 100~105 | 105110 | 110-115
incms B}
children

*okok ko
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ANNUAL PROMOTION EXAMINATION - 2018 §C/
CLASS - XI (B, C, D)
HINDI

_\Timc : 3Hrs
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Promotion Examination-2018
Class XI A, B,C, D
ENGLISH

Time: 3:00Hrs [+15 Mins. Reading Time]

Max.M-8¢

General Instructions:

A T PP v A Nt e

l) The first fifteen minutes are for reading the question paper.
i1) The question paper has:

~ Section A - Reading Skills - 20 marks
Section B - Writing Skills and Grammar - 30 marks
Section . C - Literature and Long Reading Text - 30 marks

%ii) Read the instructions carefully and do not exceed the word limit.
iv) Follow the sequence of the question paper.

Section-A [Reading- 20 Marks]

1. Read the following poem carefully and answer the questions that follow :

A Little Grain of Gold

I had gone a- begging from door to door in the village path when
thy golden chariot appeared in

the distance like a gorgeous dream and I wondered

who was the king of all kings!

My hopes rose high and methought my evil days
were at an end, and I stood waiting for alms to be
given unasked and for wealth scattered on all sides

in the dust

The chariot stopped where I stood. Thy glance
fell on me and thou camest down with a smile. I felt

that the luck of my life had come at last. Then

* of a sudden thou didst hold out thy right hand

and say, “What hast thou to give to me?”

Ah, what a kingly jest was it to open thy palm

to a beggar to beg! I was confused and stood
undecided and then from my wallet I slowly

took out the least little grain of corn and gave it to thee.

But how great my surprise when at the day’s :

end I emptied my bag on the floor to find a least
little grain of gold among the poor heap. I bitterly
wept and wished that [ had had the heart to give

(12)

----Rabindranath Tagore

thee my all. »
A. Answer the followmg questmns by choosmg the most appropriate option:- (1-6) (6)
1. What did the narrator see on the village path when he was begging from door to door?
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i ‘(a)_ The king of the state. (b) A bag full of gold coins.

- (© A golden chariot. (d) A blind beggar.
2. Who wasriding on the golden chariot?
(a) The king (b) God
. (c) Goddess (d) The narrator himself.

3. What did the narrator have in his wallet?
(a) Grains of gold. (b) Grains of silver
' (¢) Grains of corn. (d) None of these.

4. Why was the narrator filled with deep regret?
(a) Because he had given nothing to God.  (b) Because he had given his all to God.
(c) Because he had not given his all to God. (d) Because he had asked for nothing from God.

5 Give the antonym of the word ‘gorgeous’.

(a) impressive

(b)  repulsive

(c) attractive

d) beautiful

6. The word ‘thy> means
(a) you

(b) your
(c) yours

(d) yourself

B . Answer the following questions briefly: (7- 12) (6)

What was the speaker doing door to door?

Who do you think ‘this king of all kings’ refer to?

s What made the speaker’s hopes rise high?

10.  What happened contrary to the speaker’s hopes?

11.  What has been called ‘a kingly jest*?

12. What made the speaker weep bitterly?

. Read the following passage carefully and answer the questions that follow:-

© %0

)
Re . ons , ®)
There are two problems which cause great worry to our educationists---the problem of relj gious and mora

‘ .y I
instruction in a land of many faiths and the problem arising out of a large variety of languages.

Taking up the education of children we see that they should be trained to love one another, to be kind and

helpful to all, to be tender to the lower animals and to count and calculate is important, but it should not make
us lose sight of the primary aim of moulding personality in the right way.

For this, it is necessary to call into aid, culture, tradition and religion. But in our country we have, in the same
school, to look after boys and girls born in different faiths and belongings to families that live diverse ways of
life and follow different forms of worship associate with different denominations of religion. It will not do to
tread the easy path of evading the difficulty by attending solely to physical culture and intellectyal education.
We have to evolve a suitable technique and method for serving the spiritual needs of school children professing
different faiths. We should thereby promote an atmosphere of mutual respect, a fuller understanding and

- helpful co-operation among the different communities in our society. Again we must remain one people and we
- have therefore to give basic training in our schools to speak and understand more languages than one to

- appreciate and respect the different religions prevailing in India. It is not right for us In India to be dissuaded

-from this by considerations as to overtaking the young mind. What is necessary must be done. And it is not in
fact too great a burden.
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=@ complete Bio-Data.

ental coercion and indirect pressure
ingle way of fife and form of worship ori afl

arisation will lead to conflict betveey,
tion to the different prevailing
hing for boys and girls of

oll the differences through governm

e. Any imposition ofas
spect or barren secul

and, if we give duc recognl
ble facilities for religious teac
fluence of great national values.

Any attempt to do away with or steamr
would be as futile as it would be unwis
children or neglect of a section of the pupils in this re
school and home life which is harmful. On the other h
faiths in the educational institutions by organizing suita
all communities, this may itself serve as a broadening in

Questions:-
(a) On the basis of your reading of the above passage, make notes on it, using headings and sub-headings. Also use
recognisable abbreviations, wherever necessary (minimum 4) Supply an appropriate title to it 5
(3)

(b) Write a summary of the above passage in about 80-100 words.
Section-B [Writing+Grammar—30M]

effect, for publication in 2
ted etc in about 50 words.

3. You want to let out a house. Prepare an advertisement to this newspaper, giving
4)

location of the building, nature of accommodation, rent expec
OR

Secretary of the RWA of the

n the Aradhana Colony. As the
nvent the necessary details in

A Blood Donation Camp is going to take place i
dents to take part in the cause. I

colony draft a notice asking and encouraging the resi

not more than 50 words.
Your residential area is flooded with

public toilets and bathrooms. Write a
dside dwellers and also the
0-150 words. (6)

4. You are a resident of Mahalakshmi Apartments, Paharganj, Delhi.
he basic civic amenities like light

roadside dwellers who are deprived of t
letter to the Editor of the Hindustan Times, highlighting the problems of these roa
problems posed by them to the public. Give suggestions for improvement in about 12

OR

You are Anil Gupta. Write an application for the post of TGT (Mathematics) in a reputed public school with a

f the students by giving them certificates and medals on the

he highlight of the day is the announcement of the winning
zine describing the

5. Your school recognises the athletic excellence 0

Annual Athletic Meet. Parents are also invited. T
00 words for the publication in your annual school maga

house. Write a report in about 150-2
Annual Athletic Meet. (10)
_ OR
You have observed that health clubs and beauty parlours are mushrooming everywhere. Write an article in not
f health and beauty.

more than 200 words on the growing awareness o

6. The folloWing passage has not been edited. There is an error in each line. Write the incorrect word and

the._éorrection in your answer sheet as given below, against the correct blank number. (1x4=4)
: s S Incorrect Correct
one some

One morning Iwﬁrhish’ed.Oné'bﬁéinéss_at the bank

my motorbike which [ had left

(a) and was returning in pick up |
denly he realised that I had

(b) in the parking lot outside. Sud
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(¢) lost the bike key. Upset, I searched about it in the bank. [
(d) A bank employee tried to help me find it and in vain e
7. Rearrange the following words/ phrases into meaningful sentences: (2)
1. he is/ party/ explain why/ to / didn’t/ going/go to/ they / the
2. was proud/his strength / despised the / who / tenants / the landlord / weakness of his/ of
8. Read the conversation given below and complete the following passage by filling in the blank places
o appr(‘)pri'atcly. Do not add any new information. @)
~ Raghav: Hi Ravi, Varun and I are going to watch the cricket match tomorrow. Wou
"Ravi: I would love to but I have to take my father’s permission first.
Raghav: You must let me know by this evening because I have to arrange for the passes.
Ravi:  Twill do so.

Raghav informed Ravi that Varun and he were going to watch
() Ravi replied (b) permission first. Raghav told him (c)

for the passes. Ravi said (d) %

Id you like to join us?

the cricket match the next day. He asked Ravi

Section-C [Literature and Long Reading Text30M]

9. Read the extract carefully and answer the following questions: (3)
“This is a tricky thing
I need some council. Bring to me
This wisest man in this country.”
The wisest man was found and brought.
Nay, carried, to the Royal Court.

(a) Name the poem and its poet.
~ (b) What kind of man is considered as the wisest in this country?

(c) Who is ‘I’ referred to here?

10. Answer any three of the following questions:- 30-40 words (3x3=9) %
1. Why did Taplow had to stay back at school on the last day?
2. Do you find a change in Ranga’s thinking after he met Ratna? ,
3. Inthe poem ‘Father to son’ what does the father long for?
4. What was the first familiar thing that the narrator saw at Mrs. Dorling’s house during the second visit?

11. Answer any one of the questions in above 150 words. (6)
After changing her personality, how does Mrs. Pearson set Doris and Cyril right?

; OR
Justify the title “The Birth’.
Long Reading Text Novel (12)

12. Though “The Canterville Ghost’ is a hlimorous story, it contains a message. What is this message?(150 words)
13. Analyse the character of Duke of Cheshire in the context of his reaction on Virginia’s disappearance.150words
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ANNUAL PROMOTION EXAMINATION — 2018
CHEMISTRY
CLASS — XI (A + B)

Time : 3 hours + 15 min. Max Marks : 70

“~ General instructions :

1. Al ’qU'g'stiOhs‘are compulsory; only internal choice is given in some questions.
2. Questions 1- 5 carry 1 mark each; answer in 1 sentence.

3. Questions 6- 10 carry 2 marks each; answer in 2 sentences.

4. Questions 11- 22 carry 3 marks each; answer in about 30 words.

5. No. 23 carries 4 marks.

6. No. 24 -26 carry 5 marks each; answer elaborately.

7. Use Log tables; calculators are not allowed.

Ql.  Find the number of moles of hydrogen gas required to use up 70g of nitrogen during the

o preparation of ammonia.

Q2. Whatissmog, which gas is present in classical smog?

Q3.  What weight of NaOH will be present in it’s 100 mL of 1/20 solution?

‘ Q4. Find the mass of HCl needed to react with 87g MnO, (Atomic mass of Mn = 55; Cl = 35.5)

according to the equation :

; A4HCl + MnO, - 2H,0 + MnCl; + Cl,
Q5. Give an equation for a displacement reaction with the oxidation states and show redox reaction

in terms of electrons.

Q6. Calculate the total pressure exerted if 2.8 g of N,and 6.4 g of CH, are mixed in a 10 L flask.
Q7. Calculate the weight of CO that will have the same number of oxygen atoms as in 66 g of CO,.
Q8.  Balance the given ionic equation carried out in acidic medium:

SO B0 ey S0 + cr*

‘Q9.' Takmg the example of the thlrd perlod explain the trend in the 1* ionization enthalpy on
movmg across a perlod 1% is lower than Mg but the 2" LE. of Na is higher,why? .

-Q10. - Where in the periodic table will you find more negative electron gain enthalpy values, which
. type of bonds will they form with eleménts of second group?
Q115 a) Taking the config'u'ration"of-oxygén show how the quantum numbers obey Pauli’s exclusion

prmc:ple and Hund’s rule of maximum multiplicity.
2 b) calculate the wavelength and frequency of the transmon when an electron in a H atom shifts

from 4"‘ to 2""l orblt (Rydberg s const = 109714 cm ;6=3x108m s'l).
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Q2. a) The uncertainty in position and velocity are 10™° m and 5.27 x 10%* m s respectively.
Calculate the mass of the particle (h = 6.625 x 10 >* JS.)

b) Give two shortcomings of Bohr’s atomic model .
OR
Explain how K.E. of the emitted electrons can be determined in Photoelectric effect.

Q13. a) Explain which one of AlCl;, NaCl, & BeCl, is covalent or ionic and give the steps for the
formation of one mole of ionic chloride from its constituents in their most stable state.
b) Show the resonating structures of benzene and its effects

Q14. a) Using molecular orbital theory, explain the paramagnetic nature of O,
b) Explain the type of hybridization and shape of any two of the following :
N in NH;
Be in BeCl;
Cin CyHy
Bin BCl3

Q15. a) Whyis H, evolved at the anode with NaH but not with the hydrides of group 14 or 15;
compare.
b) Give the preparation of hydrogen gas or one method of preparation of H,05.

Ql6. a) Which one is more basic in nature MgO or Na,0.
b) Compare either Li or Be with the lower members of its group.

Q17. a) Give the preparation and two uses of NaOH or sodium bicarbonate .
b) Compare the reducing nature of elements and basic character of oxides of group 1 & 2

elements with examples.

Q18. a) Give the oxidation states of group 14 elements and specially of tin & lead.
b) Give the structure and properties of i) Si0; & CO, ) Al Clg & Diborane

Q19. a) Givethe structresof : i) 3-chloro 4- amino pentanoic acid
ii) 3-phenyl but 2- enal -

'b) One example of a polar mechanism.
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Q0.

- Qa1.

Q22.

,Q23‘

Q24.

c) Give the IUPAC name :

O Br H H
| T T
HO-C-C-C-C-H
[ I
H OH H

. -’E}'(p'lain ahy two :

a) Two fype_s of structural isomerism .
b)  With example explain Cis/Trans isomerism shown by some alkenes.
c) Explain why Benzene gives electrophillic substitution reactions at 2,4,6,when

substituted by —OH group.

Answer any two :

a) With example explain hetrolytic bond fission/Lewis acids.
b) In which case aresteam distillation or fractional distillation used?
c) Give some methods used in green chemistry.

-a) Give the relation between Ky and K.

b)  Whatare the guidelines given by VSEPR theory, explain.

OR

Show formal charge on centre atom of ozone.

a) The molar heat of formation of CCls, H,O, CO; and HCl are -25.5, -57.8, -94.1 and -22.1

k Cal mol™ respectively. Calculate AH for : CCls + 2H,0 - CO, + 4 HCL.

b) (i) Describe an electrochemical cell using the two metals copper & zinc dipping in their

respective salt solutions.
(i) Explain why dry cells should not be thrown in rivers.

= A mixture contained 3'0.9'2g Hﬁ, 2.794g 1, and 1308.16g HI at equilibrium in one litre

a)
~ container; Calculate the Kc for»th_ermal.decomposition of H
s HLE# Hy # D
Atbmic mass | = 127 s
o a), ‘Calculate enthalpy change for the reaction : C+ 2H; (g -—— CH, (g) if enthalpy changes
.~ for combustion of Cis --393.7 kJ ; of Hy is —285.7kJ; of methane is -890.3k
: b) : ff';Wlth an example explam a buffer solutlon or Le Chateher’s principle.
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heita)

b)

c)

Give the value of K, for the equation showing preparation of ammonia if it’s value for Kc
is 0.50 at 400° C ( R=0.082 atm/deg mole ) OR Give the structures and sigma and pi
bonds in:
i) 3-amino propanoic acid; and
i) Propyne
Explain the method of preparation of Lassaigne’s extract to detect sulphurinan organic
compound.
Give the structure of: 2,2 dichloroethanol and bond line formula of:
2,3dimethylbutanal.

OR
With the given example explain inductive effect in bromo-propane .

Any twoeachofa, b&c:

a)

b)

Give the equation for preparation of :

i) Ethene from Chloroethane

i) Butane by Wurtz reaction

iii) Benzene by decarboxylation

Give the equation for :

i) Addition of HBr on propene with the rule obeyed.
ii) Ozonolysis of propene .

iii) Preparation of benzene from phenol.

i) Directive influence of --COOH group in phenol.

ii) Reaction of ethyne to show its acidic nature.

iii) Friedel-Craft’ s alkylation reaction
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FINAL EXAMINATION 2018
SUBJECT-BIOLOGY
cLAss-11"
Time-3hrs ‘L%" L5 min . Heoda l/~3 .’}\sa\)\,«_v:-} M.M-70
General Instructions
1, All question are compulsory.
2. There s no choice in the question paper.
- 3. Draw neatand labelled diagram wherever necessary.
SECTION A (1 Mark each)
1. How does gfowth in plants differ from that of animals.
-. (any 2 differences)?
ok Which group of the kingdom Protista constitute the phytoplankton of the
: oceans?
What is triple fusion?
_ 4, Name the four pigments present in green plants.
5 Name the oxygen storing proteins found in some muscles.
SECTION B (2 Mark each)
6, Draw a longitudinal section of the kidney and label the fallowing
parts’
a- Medullary pyramid b- minor calyx
9 56 c- Rénal pelvis d- cortex‘
: 7. What is aplcal domlnance’? Which hormone controls it?
: 8 : Name the kind of eputhehum found in the air sacs of lungs. What is the
advantage of its presence there?
9. Give anatomlcal dufferences between a dicot stem and a monocot stem.
10 Wntc; an appropnate technlcal term for the followmg -

- a- blood filled cavity in arthropods

b- free floating form of cnldarla :

c- stmgmg organs of jelly fushes

s d Lateral appendages in aquatuc annellds
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SECTION C (3 Mark each)

i c cped and monocot-
11, Draw labelled diagrams of the structure of both-dicotyledonous 5¢€6 2

yledonous seed,
ver, gall bladder and

12. Draw a labelled diagram to show the duct systems of li

pancreas.

'13.  Explain the events occuring during the interphase of the cell cycle.

14, Describe the impulse conducting system of the human heart.
15. Write the deficiency symptoms of the following
1- Chlorasis
2- Necrosis
3- Stunted plant growth
16. What happens if there is a fall in the GFR? How does it correct itself?
17. a- Give a comparison between cyclic and non-cyclic photophosphorylation.
b- How can you tell whether a plant is C3 or C4?
18.  a- Name the first vertebra of the vertebral column.

b- Name the rounded protuberances of the cranium that articulate with the first
vertebra

¢- What are floating ribs?
19. What is the significance of step wise release of energy in respiration?

20. What are neurotransmitters? What is their role in transmission of nerve impulses?
Name two neurotransmitters, e

21, Name any three phytohormones and write one use of each.

] : 22, Name the mineralocorticoid secreted by the adrenal cortex. Mention its functions.
SECTION D (4 Mark each)

23. Rahuf, who works in a stove grinding industry, had some respiratory problem. Based
on your knowledge of the human respiratory system, answer the following:

i-With what ailment must he be suffering from?

e

o - ii-How does this ailment affect Rahul’s lungs?

{ At i,:iiif Suggest a protective measure to such workers to prevent such ailments.
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24.

26.

SECTION E (5 Mark each)

Give examples of:

a- Hyperglycaemic hormone
b- Hypercalcaemic hormone

¢- Gonadotropic hormone

d- Blood pressure lowering hormone

~ What is the function of the hypothalamic hormone? Mention their two categories.

Name the source glands of prolactin and oxytocin.

OR

“Name the enzymes present in the pancreatic juice.

Explain how are fats present in food digested in the alimentary canal?

a. Give a properly labelled diagrammatic (only) representation of the Hatch — Slack

pathway.

b. What is meant by photolysis of water?

c. How many turns of the Calvin cycle are required to produce one molecule of

coa.
b.

glucose.

OR

In which two steps of glycolysis, is ATP utilized?
Give the schematic representation of an overall view of the Kerb’s cycle.

a. Describe the following. .

Synapsis
Bivalent
Leptotene

b. Explain the process of cytokinesis in the animal cell.

svf ct e

: respectlvely

OR -,

Why are the two strands of DNA descnbed as antlparallel?
f;How do the two strands in DNAJom with each other?
" Name the four nucleosides found i m RNA.

"; —_What are essentlal amino acids?
: ."Name the po!ysacchandes Wthh are stored as reserve food in plants and animals
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FINAL PROMOTION EXAMINATION
; Roll No
Computer Science
Class Xl

......................

Time 3hrs.+ 15 min reading time il

.............

MT()

Write your roll no. on the Q.Pap.

£11 guestions are compulsary.

L o g - -

The guestions are to be answered in the same sequence.

Marks will be deducted for poor presen tation/logic.

thhrozzgh the question paper carefully and get your doubts cleared whern

enguired.

Leave OR draw a line after each answer.

Q.1:-wWrite one difference for each of the following (in_column format)
a. local and global variable.
b. wveid fun( ) and int fun( )
C. void num(int) and void num(int&)
~d.  ditoa( ) and atoi( )
e. strlen( ) and sizeof( ).

Q.2:-Fi11 4in the blanks:-(copy each statement)

a. 1if int n[ ]1={213,754,514} then sizeof(n) = .....uvo.....

b. :: represents .............
C. A variable declared outside main() is called .............

d. The ASCII code of 'A' is .............

e. The numerical difference between 'a' and 'A' is .............

Q.3:-state whether the following statements are TRUE or  FALSE:-

a.
b. The 'la‘rgest number which random(100) can give is 99.
c. The scope resolution operator can also be used with Tocal variables.
d. A header file can be included as many times in a single program,.
e. A function can be declared in a structure.
Q.4:-Write a CPP équiva]ent statement for each of the following:-

( Ma'ke use of the variables given jn each statements' in bold and italics in your answer)
- The first statement labelled 0. has'been solved for you as an aid to your understanding

and is not to be included by you.
0. To fﬁnd the 1ength (x) of a st1ng stored in st

Ans. xjé str]en(st),

1array of 1ntegers,,j
To dec1are a structure car to hold its name [nm],cost[cst],colour

d. To convert an integer stored in n to string form in variable s.
e. To copy a string from stri into strl.

(5]

[5]

[5]

Two functions with the same name can be declared in a single program.

[5]

70" dec1are an ‘array mnth to store the name of the months in a year.
2 To dec]are a function fun which does not return a value but accepts an

[c].

Scanned by CamScanner



Q.5
a.

“Answer the following: -~

Using this concept.

b. what type of values are returned by the

% - Strings, what is the significance of ¢
€. . How is €all by value method difference

What do we mean by overloading 2 function.write two preczuti

(15]

ons while

d. write two precautions which must be tzken while using zrrays pragran
e. Write two advantages of using functions in z progran.
- Q.6:-study the following_ programs znd znswer wmrite the output fn ezch czse
Non-inclusion of header files may not be freated as error Jn case 5o fird ROy BT G0 GO
explain the error briefly Do not copy any part of both the progroms gisen belos
PROGRAM 6 (a) PROGRAM 6 (b ) [ 5 mks cach |
void main() int zdd( it 1t ),1;
{ void mzind)
s
clrser(); "
. ’ clracr(y;
int arr1{3][3]=160,10,20,50,70,99,30,39,40}; e .
. o int z=4, b=6;
int arr2[3][3},1j; fosas
ISP
- ‘J<= “ 1 B ) "I 4 . . .
for(i=0;i 291%) for(=1:1<=3;1++)
¢ | {
for(5=0:j<=2:j++) z=2dd(z,by;
{ b=2dd(b,aj;
ar2[jl[i}=arr1[31[3]; 5
} cout<<z<<A<<b<<“inin\n";
3 5
5 it 2l .
" el f‘c % 3. 4 r ¥
cout<=<arr1[2][0}-arr2[2][0]; N S
] d
s returm me;
f

void mzin) PROGRAM 6 (¢}
| d
chrser(y,
mixy,
void fun(int & ,int &;
- cout<<"Enter first number 77
s omzi@f“ﬁﬁam;d pumber 7%
i faxﬁ-i,1<=5,;++)
flxy), -
cout<<"First number is "<x;

ut<<"nSecond pumber is“<<y;

1

L X
a=a+ty;
| PR
=a-b;
P _’ba

¥

5

).  Whatwill be the output if the
user enter if the user enters -5
and 5in response,
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s

PROGRAMMING SECTION_ ( /0 marks each )

n your grograms.Additional variables may be taken as per choice.

[ num]to accomodate the same data

Variables highlighted in the questions should be used by you i
Q.7 Consider the array given below.W.A.P. to create an array
given in the table below.
Now make your program add all ne

3|l 4| 7|6]| =2
1189|215
4l 5| 4]2]2
5| 3| 3| 1|6
67 au|7-8 | 8

"The output should be the original array followed by the sum as shown below.

C(-B) * (-4) * (-3)H(-2) + (-4) + (-3)= 24
- Hint:- This program adds all negative numbers found on both the diagonals.

gative integers found on both the diagonals.

Q.8 Create a structure [ cust] with the following fields.

Name [ nam] \  Name of the account holder
Amount [ amt] \\  Amountinrupees
Code [ cd] \  Debited [ D] or Credited [ C]

Now create an array of the above declared structure to hold the data for 10 account holders

and assign suitable data in the program itself.)

Original Structure
Name Amount Code
AAA: 1000 D
BBB 2000 D
ccc 3000 c
DDD 4000 D
GGG 5000 C

.Now through a local function [ fun() ] display the details of debitors or creditors on choice
- alongwith the total amount [ tJdebited or credited as shown.A sample output for debitors

vfollc‘)ws. : ‘
Debtors and amount

Name Amount

AAA 1000

BBB 2000

DD 14000

Total +:i 0| 0~ 7000

~ ALWAYS DRY-RUN YOUR PROGRAMS.ALL THE BEST

kkkkkkk
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‘ ANNUAL PROMOTION EXAMINATION - 2018

CLASS - XI
PHYSICS
Time : 3hrs (+ 15min reading time) MM: 79

Q.No. 1to5 1 mark each

Q.No. 6to 10 2 marks each
Q.No. 11to 22 3 marks each
Q. No. 23 4 marks each
Q No. 24to 26 5 marks each

1. What is projection of i +j oni-j
2. Two bodies of masses 1 kg & 2kg are located at (1,2) & ( 1,3) respectively Calculate the co-ordinate
of the centre.

3. What do mean by degree of freedom ? Find degree of freedom of triatomic gas.

4. Why Cp is greater than Cv
A wave is represented by y = 3Sin(36t + 0.018x +m/4) . Deduce (i) Time period (ii) Wavelength

6. The acceleration due to gravity at a place is 10ms-2 find the value in cm/min-2

Water enters a horizontal pipe of non uniform cross-section with a velocity of 0.6m/s & leaves the
other end with a velocity of 0.4m/s .At the first end- pressure of water is 1200N/m? Calculate the

pressure of water at the other end. Density of water is 1000kg/m3.

| Figure shows the acceleration -time graph for a particle in rectilinear motion. Find the average

acceleration in first 20 sec

e : 1]

o ]

;- |

520k :
& i
< 0 4] B N
20 j 30

o
S

Time (8) ——e -

9.. Sta'fé -‘Béll‘no‘ulli’s._ theorem Expla'in' hoW_Bunsen Burner works on its Principle.
10 ‘a. Why a‘fcrri_‘(i‘:ké_t‘ playér 10W6rs his hands while catching a cricket ball?

b. Why an athlete runs some steps before taking a jump?

c. Why does mango fall down when the branch of the tree is shaken ?

11. Determine a unit vector which is perpendiCﬁlar to bofh A=2i+j+k &B=i+j+k
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1
|
|
B
|
{
[
1

: 16.What is Simple pendulum ? show that the motion of a pendulum is SHM & hence

b

g VR

12.A boy ith a '
A boy § ; - wnward wit f
VAN funning westward with a speed of 3km/h Rain appears to fall vcrt;:jl:){);j/oshﬂmd hold an S

Spe ¢
ulr)nsd of 4km/h .Find the actual speed of the rain .In what direction,
rella to protect himself from the rain
1 . . . ched by a
3. Ded.uce expression for (a) time of flight (b) horizontal range (c) maximum height red g
Projectile in terms of its initial velocity & angle of projection .
able is 48000 N what is

14. An elevator weighs 4000kg .When the upward tension in the supporting ¢
the upward acceleration. Starting from rest how far does it rise 3 sec.

15. State Kepler’s law of Planetary Motion .Establish 34 J]aw mathematically

deduce an

expression for the time period of the pendulum.

17. Derive an expression for work done in an Adiabatic process.
., OR
Using first law of thermodynamics derive a relation between Cp & Cv

18. A body whose moment of inertia is 3kgm? ,is at rest .It is rotated for 20sec with a moment of force
6Nm . Find the angular displacement of the body .Also calculate the work done.

19. Define the term orbital speed . Establish a relation for orbital velocity of a satellite orbiting very
close to the surface of the earth. Find the ratio of this orbital speed & Escape velocity.

20. Derive an expression for excess pressure inside a soap bubble.
21. Starting from P=1/3 mnc? explain (i) Charles law (ii) Avogadros Hypothesis

22. The P-V diagram for a cyclic process is a triangle ABC drawn in order .The co-ordinates are in
order .The co-ordinates of A B C are (4,1) , (2,4) & (2,1) Calculate the work done in the process

from Ato B, Bto C&C to A Also calculate the work done in complete cycle.

A
51
: A
4.4
.&gs-_
£
i (I B
>
Sl o0y o

V(L)

23. Shikhar invited his friends for a party at his house & jumping on a sofa They started the
corhpétition"b'f‘high% jump on the sofa . Shikhar’s father warned them that the springs of sofa could
be broken and they could get hurt and explained them the working of spring .Children promised
that they would never jump on the furniture .
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(ii)
(iii)

24. (i)

(i)

what values of the boys do you appreciate ?

A spring compressed by 0.1m develops a restoring force of 10N .A body of mass 4kg is placed
on it .Deduce (a) the force constant of the spring (b) depression of the spring under the
weight of the body. (Given g = 10m/s?)

Give two examples of objects which work using springs.

An observer moves with a constant velocity away from a stationary sound source .Derive the
formula for the apparent frequency heard by the observer

Two engines pass each other in opposite directions with a velocity of train 60km/hr each.
One of them is emitting a note of 540. Calculate the frequencies heard in the other engine
before & after they passed each other Given velocity of sound = 316.67m/s

25.Draw P - V diagram of Carnot’s cycle Write down the expression for the work done in each
process. Derive an expression for efficiency of the cycle.

26. (i)

. (ii)

-]
()
(ii)
(iii)

Derive of a expression for terminal velocity spherical body falling from the rest through a

viscous liquid.

Two identical drops of water are falling through air with steady velocity of 10m/s. If the

drops combine to form a single drop, what would be the terminal velocity of the single drop.
OR

What is the phenomenon of capillarity ?

Derive an expression for liquid in capillary tube ?

What would be the radius of capillary tube so that water will rise to a height of 8 cm in it ?

Surface tension of water 70 x 10-3 N/m.
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Annual Promotion Examination — 2018
Class = Xl
Subject — Physical Education

Time : 3:00 Hours (+15 Min. Reading Time) MM

General Instructions:

All questions are compulsory

:nswer to question carrying 1 mark should be approximately 20-30 words each

Answer to question carrying 3 mark should be approximately 80-90 words each
nswer to question carrying 5 mark should be approximately 150-200 words each

Very Short answer type questions. (1X11=11) Mz

e

Define Physical education?

Write down the oath taken by participants in the modern Olympics
What do you mean by flexibility?
Define adaptive physical education.
What do you mean by yoga?

Write an objective of adventure sports.
What is BMI and how it is measured.
What do you mean by muscles?

. Define centre of gravity.

10. What is meant by adolescence.

11. Define the term skill?

W oo NOWUL &~ WN

Short answers type questions. (3X8=24) M:
Explain the components of wellness.
What is the vision of special Olympic bharat?
Wh'y is Yoga important in modern life?
Write briefly on the importance of test, measurement and evaluation in sports.
How does anatomy differ from physiology?
~ What are the different types of levers?
Differentiate growth and development.
Explain in brief about blood doping?

®NOV A WN R

" Long answer type questions (5X7=35) M
What are the components of a positive life style? Discuss.
Briefly explain the roles and qualities of a leader.
~ Write an essay on the three somatotypes described by W H Sheldon?
- Write on the properties and_functioh of muscles?
_ Discuss in detail the importance of biomechanics in sports.
 Discuss the importance of warming up in sports?
What are different performancé enhancing drugs? Write in detail

Saopinges WY
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